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District Performance Breakdown e e

Total A B C D F i i
# Schools 2 0 0 0 0 2 Zwr s E
# Students 792 <10 <10 <10 <10 792

% Students 100% <5% <5% <5% <5% >95%

% F/RL 92% <5% <5% <5% <5% 92%

District % Proficiency History
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90
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70 — District Contact Info
60 Superintendent | Dr. Kelli Joseph
50 Phone # 225-222-4349
40 Website http://www.sthpk-12.net/Page/1
30
20 District Economic Information
10 Population 11,071
0 Avg. Income $30,940
2009 2010 2011 2012 2013 Largest City : Greensburg
Largest City Population 713
e OUISIANA STATEWIDE ST. HELENA PARISH Regional Labor Market
Area (RLMA) Baton Rouge
Unemployment % 11.1%
‘ District ‘ State Avg. Top RLMA Projected High-Growth/Wage Job Sectors:
District Performance Score 45.2 88.5
1. Architecture & Construction
MFP S 8,377 S 8,605 2. Manufacturing
% Sped 14% 10% 3. Health Science
4" Grade Proficiency — ELA 49% 77%
th . _ o o
4~ Grade Proficiency — Math 31% 71% # District-Authorized Charter Schools 0
h .
8" Grade Proficiency — ELA NR 69% # State-Authorized Charter Schools 0
8™ Grade Proficiency — Math NR 66% # Scholarship Non-Public Schools 0
EOC Proficiency 22.9% 59% # Total Non-Public Schools 0
ACT Avg. 15.6 19.5 -
g Fall 2015 RSD-Eligible Schools
Graduation Rate 63.2% 72.3% School Grades | Enrollment
Cohort Drop-Out Rate 20.7% 14.6% SDt Helena Central Middle School (RSD 5.8 310
irect-Run)
# Prospectively RSD-Eligible Schools )
District Student Demographics (% of Total Students) (by Fall 2016+)
0,
Sfuzzt:t's Total A B c D F
Click here to see a list of all current and prospectively
White 7% <5% <5% <5% <5% 7% RSD-Eligible schools.
Minority 93% <5% <5% <5% <5% 93% Click here to see an explanation of district snapshot
Black 92% <5% <5% <5% <5% | 92% || metrics.

Lloutistana Believes


http://www.sthpk-12.net/Page/1
http://www.louisianabelieves.com/docs/call-to-action-toolbox/list-of-current-or-prospectively-rsd-eligible-schools.pdf?sfvrsn=2
http://www.louisianabelieves.com/docs/call-to-action-toolbox/district-snapshot-explanation.pdf?sfvrsn=2

